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WA T RC-40, t=15cm 0.60 X 13.8 m? 8.3
AR EEAS(13)
AR T t=3cm 0.60 X 13.8 m? 8.3

_16_




T T R K

+TH47° | RER1-2 il As HPPE ¢ 100 DP=0.30m
+ It E L= 179.7 +82.4 = 2621 m
(1B E% )
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
< N _ Y 3
[
: BRAET
i RC-40 3
!
i A
5 W_[BiiE] 0600
a ! D1 [&s&[ 0.125
= g ° HHIRH B5H — DP [ 40| 0.300
i RC-40 < Hi |4miieE| 0.425
i H2_ [dmhle] 0.385
5 hl MR 0.245
i
|
i
D _
i o
i
i
i
( 262.1 m M47-0EE)
4 i IR N R & "o K HA % =
S T As, t=15cmEL 2.00 X 262.1 m | 524.2
St i T As, t=10emLL T 0.60 X 262.1 m?| 157.3
o T Bk W+ 0.60 X 0.385 X 262.1 m’ 60.5
D FELL RC-40 ( 060 X 0245 — 0.125 2 X x,/4)X 262.1 |m® 35.3
HDREL T WA
D FELL b
EEl Wi R
Py W+ 60.50 — + 09 m’ 60.5
FESRALEL As 0.60 X 0.04 X 262.1 m’ 6.3
PRI As m’ 6.3
TEVEIEM - L4 T 0.023 X 0.04 X 524.2 m’ | 0.482
o T RC-40, t=15cm 0.60 X 262.1 m?| 157.3
AR EEAS(13)
REIRT t=3cm 0.60 X 262.1 m?| 157.3

_17_




+ T ¥ & %
+TH47° | RER1-3 il As HPPE ¢ 75 DP=1.00m
+ TR = 0.7 +0.7 = 1.4 m
(1 EREH)
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
< N _ Y 3
!
: BRAET
i RC-40 3
|
i A
5 W_[iE]_0.600
a ! D1 [&s+&[ 0.090
= 2| ° HHIRH B5H — DP [ 4w [ 1.000
i RC-40 < Hi |4miiE] 1.090
i H2_ [dmile] 1.050
5 hl | #EREHM| 0.910
i
i
i
D _
i o
i
i
i
( 1.4 m H7=0EaE)
4 Fr IR N NI A & = . BN &
Al T As, t=15cmbA F 200 X 1.4 m 2.8
SEERRIE T As, t=10cmPL T 0.60 X 1.4 m? 0.8
| OE T Bk e L 0.60 X 1.050 X 1.4 m’ 0.9
HBRLT RC-40 ( 0.60 X 0910 — 0.090 2 X x,/4)X 14 m® 0.8
HDREL T i -
M RELT b
P Wi R
Py WHE T 0.90 — + 09 m® 0.9
FESRALEL As 060 X 004 X 14 m’ 0.03
FEH As m® 0.03
TEUREE - ALy T 0.023 X 0.04 X 2.8 m’| 0.003
WA T RC-40, t=15cm 0.60 X 1.4 m? 0.8
AR EEAS(13)
AR T t=3cm 060 X 1.4 m? 0.8
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+ T ¥ & %
+THo47° | & 1-4 il As HPPE ¢ 75 DP=0.30m
+ It E = 9.6 +7.0 = 16.6 m
(1 EREH)
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
< N _ Y 3
!
: BRAET
i RC-40 3
!
i A
5 W_[iE]_0.600
a ! D1 [&s+&[ 0.090
= g ° HHIRH B5H — DP [ 40| 0.300
i RC-40 < Hi |4mi0E| 0.390
i H2_ [dmile] 0.350
5 hl | HEHM| 0.210
i
i
i
D _
i o
i
i
i
( 16.6 m H7-0%E)
4 i IR N NI A & = . HA % =
Al T As, t=15cmbA F 2.00 X 16.6 m 33.2
St i T As, t=10emLL T 0.60 X 16.6 m? 10.0
| OE T Bk e L 0.60 X 0.350 X 16.6 m’ 3.5
HBRLT RC-40 ( 060 X 0210 — 0.090 2 X x,/4)X 166 |m’ 2.0
HDREL T WA
D FELL b
EEl Wi R
Py WHE T 350 — + 09 m® 3.5
FESRALEL As 0.60 X 004 X 16.6 m’ 0.40
FEH As m® 0.40
TEUREE - ALy T 0.023 X 0.04 X 33.2 m’ | 0.031
A T RC-40, t=15cm 0.60 X 16.6 m? 10.0
AR EEAS(13)
REIRT t=3cm 0.60 X 16.6 m? 10.0
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T T R K

+TH47° | RER1-6 il As PP ¢ 50 DP=0.30m
+ TR = 5.0 +1.7 = 6.7 m
(1 EREH)
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
< N _ Y 3
!
: BRAET
i RC-40 3
|
i A
5 W_[iE]_0.600
a ! D1 [&s&[ 0.060
= 2| ° HHIRH B5H — DP [ 40| 0.300
i RC-40 < H1 |4miE| 0.360
i 2 [dmile] 0.320
5 hl | HEHM| 0.180
i
i
i
D _
i o
i
i
i
( 6.7 m H47=0¥E)
4 Fr IR N NI A & = . BN &
Al T As, t=15cmbA F 2.00 X 6.7 m 13.4
SEERRIE T As, t=10cmPL T 0.60 X 6.7 m? 4.0
| OE T Bk e L 0.60 X 0.320 X 6.7 m’ 1.3
HBRLT RC-40 ( 0.60 X 0.180 — 0.060 2 X x,/4)X 6.7 m® 0.7
HDREL T i -
M RELT b
P Wi R
Py WHE T 1.30 — + 09 m® 1.3
FESRALEL As 060 X 004 X 6.7 m’ 0.16
FEH As m® 0.16
TEUREE - ALy T 0.023 X 0.04 X 134 m’| 0.012
WA T RC-40, t=15cm 0.60 X 6.7 m? 4.0
AR EEAS(13)
AR T t=3cm 0.60 X 6.7 m? 4.0
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+ T ¥ & %
+Ta47° | fER1-10 Wl As PP ¢ 20 DP=0.30m
+ TR = 0.6 +6.0 = 6.6 m
(1 EREH)
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
< N _ Y 3
!
: BRAET
i RC-40 3
!
i A
5 W_[iE]_0.600
a ! D1 [&s&[ 0.027
= 2| ° HHIRH B5H — DP [ 40| 0.300
i RC-40 < Hi |4miiE| 0.327
i 2 [dmile] 0.287
5 hl MR 0.147
i
i
i
D _
i o
i
i
i
( 6.6 m H47=0¥E)
4 Fr IR N NI A & = . BN &
Al T As, t=15cmbA F 200 X 6.6 m 13.2
SEERRIE T As, t=10cmPL T 0.60 X 6.6 m? 4.0
| OE T Bk e L 0.60 X 0.287 X 6.6 m’ 1.1
HBRLT RC-40 ( 0.60 X 0.147 — 0.027 2 X xn,/4)X 6.6 m® 0.6
HDREL T i -
M RELT b
P Wi R
Py W+ 1.10 — + 09 m® 1.1
FESRALEL As 060 X 004 X 6.6 m’ 0.16
FEH As m® 0.16
TEUREE - ALy T 0.023 X 0.04 X 13.2 m’| 0.012
WA T RC-40, t=15cm 0.60 X 6.6 m? 4.0
AR EEAS(13)
AR T t=3cm 0.60 X 6.6 m? 4.0
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T T R K

+TA47° | fER1-11 Wl As PP ¢ 13 DP=0.30m
+ It E L= 1.2 +12.0+ 15+ 11.0 = 25.7 m
(1 EREH)
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
< N _ Y 3
!
: BRAET
i RC-40 3
!
i A
5 W_[iE]_0.600
a ! D15 0.022
= g ° HHIRH B5H — DP [ 40| 0.300
i RC-40 < Hi |4miiE| 0.322
i H2_ [dmile] o0.282
5 hl | HREM| 0.142
i
|
i
D _
i o
i
i
i
( 25.7 m H7=0EE)
4 i IR N NI A & "o K HA % =
Al T As, t=15cmbA F 2.00 X 257 m 51.4
St i T As, t=10emLL T 0.60 X 25.7 m? 15.4
| OE T Bk e L 0.60 X 0.282 X 25.7 m’ 4.3
HBRLT RC-40 ( 060 X 0142 — 0.022 2 X =/4)X 257 |m® 2.2
HDREL T WA
D FELL b
EEl Wi R
Py W+ 430 — + 09 m® 4.3
FESRALEL As 0.60 X 004 X 257 m’ 0.62
FEH As m® 0.62
TEUREE - ALy T 0.023 X 0.04 X 51.4 m’ | 0.047
A T RC-40, t=15cm 0.60 X 25.7 m? 15.4
AR EEAS(13)
REIRT t=3cm 0.60 X 25.7 m? 15.4
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_gz_

ITX PP$50 (YE%-MiBh) LTIEEHEE

P o P, _ + If 17 _ _ At | BAL  REHE
4N 73 > N b = — = — = _ E _
i o | s | W | S | (e | Ghata) | (st
il Eaas)] [ n As, t=15cmPA T 2.0 2.0 2.0 54.6 12.4 9.6 30.0 112.6 | m 110
BEAREUE T | As, t=10ecmPA T 0.6 0.6 0.6 16.4 3.7 2.9 9.0 33.8 | m® 34
AN T Bt W 0.7 0.7 0.7 5.2 1.1 0.8 2.5 1.7 [ m* 10
HORL T RC—40 0.3 0.3 0.3 2.9 0.6 0.4 1.3 6.1 | m’ 6
HOREL L i 0.3 0.3 0.3 09| m* 0.9
7k Ly e+ 0.7 0.7 0.7 5.2 1.1 0.8 2.5 1.7 [ m* 10
T 0.7 0.7 0.7 5.2 1.1 0.8 2.5 11.7 | m’ 10
FES AL As 0.02 0.02 0.02 0.66 0.15 0.12 0.36 1.35 [ m* 1
GRS 2 As 0.02 0.02 0.02 0.66 0.15 0.12 0.36 1.35 [ m* 1
15 JE T - 4055 T 0.002 0.002 0.002 0.050 0.011 0.009 0.028 0.104 | m® 0.1
AT RC-40, t=15cm 16.4 3.7 2.9 9.0 32.0 | m® 32
AT RC-40, t=16cm 0.6 0.6 0.6 1.8 | m* 2
RiEIHT FAEBRIEAs(13) t=3cm 0.6 0.6 0.6 16.4 3.7 2.9 9.0 33.8 | m* 34




T T R K

+THa47 4 Wil As VP ¢ 25 DP=1.00m
+ TR = 1.0 = 1.0 m
W
BEERAs t=4cm EHI | BR REI8 BAEFHiAs t=3cm
< pNY _ % 3
T
: BRAET
i RC-40 3
|
i
| W [#fliE]_0.600
a ! D1 [&s&[ 0.034
= g ° HHIRH B5H — DP [ 4w [ 1.000
| RC-40 < H1|$mEIZE| 1.134
i e [dmile] 1094
i hi  |H#EH] 0.510
: h W wm| 0.434
| o
i S
W (
L O°| _4-
y =0
! 8
; —
\ @D
( 1.0 m H7=v%aE)
4 Fr IR N NI A & = . BN &
SHLEGT T As, t=15cmEL 200 X 1.0 m 2.0
AR EBUE T As, t=10ecmBL F 0.60 X 1.0 m? 0.6
oM T Bk RYE ( 0.60 X 1.094 — 0.034 2 X x,/4)X 1.0 m® 0.7
D REL T RC-40 0.60 X 0.510 X 1.0 m’ 0.3
HDREL T i -
M RELT b ( 0.60 X 0434 — 0.034 2 X x,/4)X 1.0 m® 0.3
P Vi R
Py wE+ 0.70 — + 09 m® 0.7
FESRALEL As 060 X 004 X 1.0 m’ 0.02
FEH As m® 0.02
TEUREE - ALy T 0.023 X 0.04 X 2.0 m’| 0.002
% T RC-40, t=16cm 0.60 X 1.0 m? 0.6
AR EAs(13)
AR T t=3cm 0.60 X 1.0 m? 0.6
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T T R K

+Ta47° s Wil As VP ¢ 20 DP=1.00m
+ TR = 1.0 = 1.0 m
W
BEE%As t=4cm EEl | BR REIH BEZHIAs t=3cm
< pNY _ % 3
T
: BRAET
i RC-40 3
|
; A
| W [#fliE]_0.600
a ! D1 [&s&[ 0.027
= g ° HHIRH B5H — DP [ 4w [ 1.000
| RC-40 < H1|3mEIZE| 1127
i H2_ [dmile] 1087
i hi  |H#EH] 0.510
: v h W owm| 0.427
| o
i S
W (
SO MEE S
y =0
! 8
; — A4
\ @D
( 1.0 m H7=v%aE)
4 Fr IR N NI A & = . BN &
SHLEGT T As, t=15cmEL 200 X 1.0 m 2.0
AR EBUE T As, t=10ecmBL F 0.60 X 1.0 m? 0.6
oM T Bk RYE ( 0.60 X 1.087 — 0.027 2 X xn,/4)X 1.0 m® 0.7
D REL T RC-40 0.60 X 0.510 X 1.0 m’ 0.3
HDREL T i -
M RELT b ( 0.60 X 0427 — 0.027 2 X xn,/4)X 1.0 m® 0.3
P Vi R
Py wE+ 0.70 — + 09 m® 0.7
FESRALEL As 060 X 004 X 1.0 m’ 0.02
FEH As m® 0.02
TEUREE - ALy T 0.023 X 0.04 X 2.0 m’| 0.002
% T RC-40, t=16cm 0.60 X 1.0 m? 0.6
AR EAs(13)
AR T t=3cm 0.60 X 1.0 m? 0.6
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T T R K

+Taq7 | FaELL Wil As VP ¢ 50 DP=1.00m
+ TR = 1.0 = 1.0 m
W
BEE%As t=4cm EEl | BR REIH BEZHIAs t=3cm
< pNY _ % 3
T
: BRAET
i RC-40 3
|
; A
| W [#fliE]_0.600
a ! D1 [&s&[ 0.060
= g ° HHIRH B5H — DP [ 4w [ 1.000
| RC-40 < H1|$REIZE| 1.160
i e [dmile] 1120
i hi  |H#EH] 0.510
: v h @l 0.460
| o
i S
W (
SO MEE S
y =0
! 8
; — A4
w
( 1.0 m %7v¥HE)
4 Fr IR N NI A & = . BN &
SHLEGT T As, t=15cmEL 200 X 1.0 m 2.0
AR EBUE T As, t=10ecmBL F 0.60 X 1.0 m? 0.6
oM T Bk RYE ( 0.60 X 1.120 — 0.060 2 X x,/4)X 1.0 m® 0.7
D REL T RC-40 0.60 X 0.510 X 1.0 m’ 0.3
HDREL T i -
M RELT b ( 0.60 X 0460 — 0.060 2 X x./4)X 1.0 m® 0.3
P Vi R
Py wE+ 0.70 — + 09 m® 0.7
FESRALEL As 060 X 004 X 1.0 m’ 0.02
FEH As m® 0.02
TEUREE - ALy T 0.023 X 0.04 X 2.0 m’| 0.002
% T RC-40, t=16cm 0.60 X 1.0 m? 0.6
AR EAs(13)
AR T t=3cm 0.60 X 1.0 m? 0.6
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+ T ¥ & %
+TH47° | RER1-6 il As PP ¢ 50 DP=0.30m
+ It E = 9256 +1.7 = 27.3 m
(1 EREH)
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
< N _ Y 3
!
: BRAET
i RC-40 3
!
i A
5 W_[iE]_0.600
a ! D1 [&s&[ 0.060
= g ° HHIRH B5H — DP [ 40| 0.300
i RC-40 < H1 |4miE| 0.360
i 2 [dmile] 0.320
5 hl | HEHM| 0.180
i
i
i
D _
i o
i
i
i
( 27.3 m H7=0EE)
4 i IR N NI A & = . HA % =
Al T As, t=15cmbA F 2.00 X 27.3 m 54.6
St i T As, t=10emLL T 0.60 X 27.3 m? 16.4
| OE T Bk e L 0.60 X 0.320 X 27.3 m’ 5.2
HBRLT RC-40 ( 060 X 0.180 — 0.060 2 X =,/4)X 273 |m® 2.9
HDREL T WA
D FELL b
EEl Wi R
Py WHE T 5.20 — + 09 m® 5.2
FESRALEL As 0.60 X 004 X 27.3 m’ 0.66
FEH As m® 0.66
TEUREE - ALy T 0.023 X 0.04 X 54.6 m’ | 0.050
A T RC-40, t=15cm 0.60 X 27.3 m? 16.4
AR EEAS(13)
REIRT t=3cm 0.60 X 27.3 m? 16.4
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+ T ¥ & %
+TH47° | RER1-9 il As PP ¢ 25 DP=0.30m
+ It E = 6.2 = 6.2 m
(1 EREH)
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
< N _ Y 3
!
: BRAET
i RC-40 3
!
i A
5 W_[iE]_0.600
a ! D1 [&s&[ 0.034
= 2| ° HHIRH B5H — DP [ 40| 0.300
i RC-40 < Hi |4miiE| 0.334
i e [dmile] 0.294
5 hl MM 0.154
i
i
i
D _
i o
i
i
i
( 6.2 m H47=0¥E)
4 Fr IR N NI A & = . BN &
Al T As, t=15cmbA F 200 X 6.2 m 12.4
SEERRIE T As, t=10cmPL T 0.60 X 6.2 m? 3.7
| OE T Bk e L 0.60 X 0.294 X 6.2 m’ 1.1
HBRLT RC-40 ( 0.60 X 0154 — 0.034 2 X x,/4)X 6.2 m® 0.6
HDREL T i -
M RELT b
P Wi R
Py WHE T 1.10 — + 09 m® 1.1
FESRALEL As 060 X 004 X 6.2 m’ 0.15
FEH As m® 0.15
TEUREE - ALy T 0.023 X 0.04 X 124 m’| 0.011
WA T RC-40, t=15cm 0.60 X 6.2 m? 3.7
AR EEAS(13)
AR T t=3cm 0.60 X 6.2 m? 3.7
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+ T ¥ & %
+Ta47° | fER1-10 Wl As PP ¢ 20 DP=0.30m
+ TR = 4.3 +0.5 = 4.8 m
(1 EREH)
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
< N _ Y 3
!
: BRAET
i RC-40 3
|
i A
5 W_[iE]_0.600
a ! D1 [&s&[ 0.027
= 2| ° HHIRH B5H — DP [ 40| 0.300
i RC-40 < Hi |4miiE| 0.327
i 2 [dmile] 0.287
5 hl MR 0.147
i
i
i
D _
i o
i
i
i
( 4.8 m H7=v¥E)
4 Fr IR N NI A & = . BN &
Al T As, t=15cmbA F 2.00 X 4.8 m 9.6
SEERRIE T As, t=10cmPL T 0.60 X 4.8 m? 2.9
| OE T Bk e L 0.60 X 0.287 X 4.8 m’ 0.8
HBRLT RC-40 ( 0.60 X 0147 — 0.027 2 X xn,/4)X 4.8 m® 0.4
HDREL T i -
M RELT b
P Wi R
Py WHE T 080 — + 09 m® 0.8
FESRALEL As 060 X 004 X 48 m’ 0.12
FEH As m® 0.12
TEUREE - ALy T 0.023 X 0.04 X 9.6 m’| 0.009
WA T RC-40, t=15cm 0.60 X 4.8 m? 2.9
AR EEAS(13)
AR T t=3cm 0.60 X 4.8 m? 2.9
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T T R K

+TA47° | fER1-11 Wl As PP ¢ 13 DP=0.30m
+ It E L= =0.5+2+4.9+0.5%2+1+1.4+0.5%2+3.2 = 15.0 m
(1 EREH)
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
< N _ Y 3
!
: BRAET
i RC-40 3
!
i A
5 W_[iE]_0.600
a ! D15 0.022
= 2| ° HHIRH B5H — DP [ 40| 0.300
i RC-40 < Hi |4miiE| 0.322
i H2_ [dmile] o0.282
5 hl | HREM| 0.142
i
|
i
D _
i o
i
i
i
( 15.0 m H¥720%E)
4 Fr IR N NI A & "o K BN &
Al T As, t=15cmbA F 2.00 X 15.0 m 30.0
St i T As, t=10emLL T 0.60 X 15.0 m? 9.0
| OE T Bk e L 0.60 X 0.282 X 15.0 m’ 2.5
HBRLT RC-40 ( 060 X 0142 — 0.022 2 X x,/4)X 150 |m® 1.3
HDREL T i -
M RELT b
P Wi R
Py W+ 250 — + 09 m® 2.5
FESRALEL As 0.60 X 004 X 15.0 m’ 0.36
FEH As m® 0.36
TEUREE - ALy T 0.023 X 0.04 X 30.0 m’ | 0.028
WA T RC-40, t=15cm 0.60 X 15.0 m? 9.0
AR EEAS(13)
AR T t=3cm 0.60 X 15.0 m? 9.0
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1T JH:XE & -8 (fBh)

g 1 Je OF B K

4 R Hikg OB WA
[&#1]
B H=300
WkieE 450 X 350-200 1 1 1A
ACHRBF
kiR E 450 X 350-200 1 1 1#
AZT7
Wk 680 X 20040 1 1 1A
R F LA ¢ 50 2.3 2.3 m
PP /LR $ 50 3 3 1A
PPBRAL ¢ 50 1 1 1
PPF—X $50X50 1 1 &
T 65A X 50 1 1 1
AT KRR S | 65A X90° 1 1 1A
(%] _
) ERE ST
NEPAE T S T 1 X 1 1 AT
RYF L SR T ¢ 50 2.3 2.3 m
LR pSyelv F—X
PPk T ¢ 50 6 + 1 + 3 10 5]

_31_




2TX PP¢25 &h -8 (KX -MBh)

g 1 Je OF B K

4 R Hikg OB WA
[&41]
R TF LA 625 79.3 79.3 | m
Hhk1
R TF LA 613 0.7 0.7 m
PPLE 625 2 2 1
Hhk1
PPF— % 625X ¢ 13 1 1 1
Hhk1
PV ob 613 1 1 1
Hhk1
VP¥ ¥/ 613 1 1 1
PPERALETe
RS LT ¢ 25 1 1 &
PR H=650
e JWWA B 132 1 1 I
F RN
s E PR25 (K) 2 2 1A
R ERRE
s E RAC25(CA) 1 1 1
JESR
R E RS25 (S) 1 1 &
~—H—Hi 2 2 M
TV EL 625 o13
EHRY—B PO 789 + 0.7 796 | m
[55%]
AT L E iR T 625 79.3 793 | m
RYF L SR T ¢ 13 0.7 0.7 m
LR F—=X ok Bt
PPk T ¢ 25 4+ 2+ + 2 8 5]
TR F—=X ok
PPilkF T ¢ 13 + 1+ 2 3 H
VP
TSHETF T 613 1 1 5]
fHOIFpERR E T H=650 1 1 fEET
ERY—R L 79.6 796 | m
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_gg_

2T (AR-F18) TIXREHESE

+ T 247

2 ) | N B V5 = = BETECR [ BAL RREHME
EHAE O T As, t=15cmLL 157.8 1.4 159.2 [ m 160
EERRDUE T | As, t=10emlL T 47.3 0.4 47.7 | m® 48
PEH T BEbR AYE 35.2 0.3 35.5 | m’ 40
HDRELT RC-40 7.6 0.1 7.7 m® 8
HHRELT w 20.5 0.2 20.7 | m® 20
sy wWHE+ 35.2 0.3 35.5 | m® 40
e T 35.2 0.3 35.5 | m® 40
FE AL As 1.9 0.02 1.9 m’ 2
PRy As 1.9 0.02 1.9 m’ 2
TGRSR - Ly T 0.145 | 0.001 0.146 | m® 0.1
AT RC-40, t=16cm 47.3 0.4 47.7 | m® 48
RIEIH T FAEERIEAS(13) t=3cm 47.3 0.4 47.7 | m® 48




T T R K

+TH47° 1-7 il As PP ¢ 25 DP=0.65m
+TIEE L= 789 = 78.9 m
W
BEE%As t=4cm EEl | BR REIH BEZHIAs t=3cm
< pNY _ % 3
T
: BRAET
i RC-40 3
|
i
| W [#fliE]_0.600
a ! D1 [&s&[ 0.034
= g ° HHIRH B5H — DP [ 40 [ 0.650
| RC-40 < H1 | #m0ve| 0.784
i e [dmile] 0.744
ISR hl [HREH] 0.160
—t h | ® & 0434
| o
‘\ S
W !
| 5| <
! 8
; —
\ @D
( 78.9 m H7-h¥E)
4 Fr IR N NI A & = . BN &
SHLEGT T As, t=15cmEL 2.00 X 789 m| 1578
St i T As, t=10emLL T 0.60 X 78.9 m? 47.3
| OE T Bk e L 0.60 X 0.744 X 789 m’ 35.2
D REL T RC-40 0.60 X 0.160 X 789 m’ 7.6
HDREL T i -
M RELT b ( 060 X 0434 — 0.034 2 X x,/4)X 789 |m’ 20.5
P Vi R
7 sy WHE T 35.20 — + 09 m® 35.2
FESRALEL As 0.60 X 004 X 789 m’ 1.9
FEH As m® 1.9
TEUREE - ALy T 0.023 X 0.04 X 157.8 m’ | 0.145
% T RC-40, t=16cm 0.60 X 789 m? 47.3
AR EEAS(13)
REIRT t=3cm 0.60 X 78.9 m? 47.3
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T T R K

+TH47° 1-9 il As PP¢ 13 DP=0.65m
+ It E L= 0.7 = 0.7 m
W
BEE%As t=4cm EEl | BR REIH BEZHIAs t=3cm
< N _ % 3
T
: AT
i RC-40 3
|
i
| W [#fliE]_0.600
a ! D15 0.022
= g ° HHIRH B5H — DP [ 40 [ 0.650
| RC-40 < H1|3REIE| 0.772
i e [dmile] 0.732
ISR hl [HREH] 0.160
—t h | | 0.422
| o
‘\ S
W (
| 5| <
! 8
; —
\ @D
( 0.7 m H47=0v¥E)
4 Fr IR N NI A & = . BN &
SHLEGT T As, t=15cnBL F 2.00 X 0.7 m 1.4
AR EBUE T As, t=10ecmBL F 0.60 X 0.7 m? 0.4
| OE T Bk e L 0.60 X 0.732 X 0.7 m’ 0.3
D REL T RC-40 0.60 X 0.160 X 0.7 m’ 0.1
HDREL T i -
M RELT b ( 0.60 X 0422 — 0.022 2 X x,/4)X 0.7 m’ 0.2
P Vi R
Py wE+ 0.30 — + 09 m® 0.3
FESRALEL As 060 X 004 X 0.7 m’ 0.02
FEH As m® 0.02
TEUREE - ALy T 0.023 X 0.04 X 1.4 m’| 0.001
B T RC-40, t=16cm 0.60 X 0.7 m? 0.4
AR EAs(13)
AR T t=3cm 0.60 X 0.7 m? 0.4
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2T.X PP¢25 &bt % (X #ibBh)

[&41]
[55%]
LT3 65
ARV F LU EHET ¢ 25 76.2 76.2 | m
53 ES
RIZF LU ERET 13 0.5 0.5 m
$25 ¢ 13
W5 BETSIAF v 76.2 X 0423 + 0.5 X 0.184 32 kg
PPz /LR PVI/LAR BRF-2
kAT T ¢ 25 2 X 0720 + 1 X 0970 + 1 X 097 3.18 | kg
PVIZ/LR
Hegkrr77 613 1 X 0.365 0.37 | kg
HPARr797 & 3.55 | kg
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ALY =) )
1TX. HPPE ¢ 100 PP ¢ 25-13 B#F- 5% ({K5% - )
" <o ,
5 T ik MERUREA OB
[&41]
[ERES L
EF% NHEE $100 10 1 11 A
433 2T X
R)=FL 625 6.6 0.8 7.4 m
X5
R)TF LA 613 0.3 0.3 m
4ylEz3 2T X
EFE YRS KR ¢ 100X ¢ 25 1 1 P) 1A
5
EFE YRI5k ¢ 100X ¢ 13 1 1 1
2T X
PPy 4k 025 1 L
5
PV yb $13 1 1 1
4ylEz3 2T X
PP /LR ¢ 25 3 1 4 i
4ylEz3 2T X
PVIZLAR ¢ 25 1 1 &
(%]
AT L E iR T ¢ 100 54.4 544 | m
RV=F L E AT $25 7.4 7.4 m
AV F L ERR T $13 0.3 0.3 m
R F L AT ¢ 100 1 1 N]
[EREg Fig)
RlEBE T L $100 11 1 12 N
EFE
Sy KRR U T ¢ 100X 25 2 2 T
EFE
Sy ARFE U T ¢ 100X13 1 1 &7
PPL Yok a2 PVL
PP#kF T 625 8 2+ 2 2 14 8]
PPL Yok a2
PPk T 613 2+ 1 3 5]
¢ 100
P BESIAF 7| 1.40 4.4 6 kg
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HPPE ¢ 100mm
HPPE ¢ 100| HPPE ¢ 100 | HPPE ¢ 100 EF |PEffOf| v7he—n EFF 5 ~_UR EFfis XK EF EF EF PP A | Rk Kk EF EF PV IR
szt HoE o W | R wwnoo) 90° [ 45° [ 22° | 11° | 90° [ 45° | 22° | 11° | W% | W% WS varoh 770V BIUEE @SR ook %vo7 vater (i)
EE (@ (o) F—X T | fkE 1/2 | 1/4 1/2 | 1/4 F—X 5=2H)| SR ot | VP
(£) s100x 9100 | 0100075 | ¢ 100 ¢ 100 | ¢ 100 | ¢ 100 ¢ 100 | ¢ 100 | ¢ 100 ¢ 100 | ¢ 100 ¢100xs75 s100xs100 | g100xii50 ¢ 100 ¢ 100 ¢ 100| ¢ 100| ¢ 100 ¢ 100 ¢ 100
1=5.0m g o (ff) (1) (1) (1) (1) (1) (1) () (1) (1) (1) @) | (&) | &) | @) | fE &) | fE ()
9 1 45.79
1 3.60 54.39
&t 10.0  3.60 1
EE=S 5 0.3 0.79] 0.86] 0.555| 0.485] 0.400] 0.400 0.445 0.375 0.280 0.280 0.134 0.3 1.02 A T
JER: 50 3.6 0.79 L= 54.39
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%
o

HPPE ¢ 100 ( L =5.00m/ 4 )

)& Z NI RE | ST W = Y SR i AR H [ OIlr T|5RE &
m A () m m A () m
3.60 1 1 1.40

1.40
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1 TX (% -BM) +TITHEHEE

T T¥ A7 ARt (B BREMIE

4 ¥R F B | GR2 | T | R 19 |k 111

(HRERIE) | HHERE) | (HEERE) | (HEER )
Sl BT T As, t=15cmEL T 108.8 6.8 5.0 0.6 121.2 [ m 120
SERRIUE T, | As, t=10cmPh F 32.6 2.0 1.5 0.2 36.3 | m” 36
AT Btk #E 1 12.6 2.0 0.4 0.1 15.1 | m’ 20
B REL LT RC-40 7.33 1.70 0.20 0.03 9.26 | m’ 9
Py W+ 12.6 2.0 0.4 0.1 151 | m® 20
HEH T 12.6 2.0 0.4 0.1 151 | m® 20
FRURALER As 1.30 0.08 0.06 0.01 1.45 | m® 1
PR As 1.30 0.08 0.06 0.01 1.45 | m® 1
TG YETEE - L5y T 0.100 | 0.006 0.005 0.001 0.112 | m® 0.1
BAE T RC-40, t=15cm 32.6 2.0 1.5 0.2 36.3 | m* 36
RAEIH T FAEZREAS(13) t=3cm 32.6 2.0 1.5 0.2 36.3 | m” 36




T T R K

+TH47° | RER1-2 il As HPPE ¢ 100 DP=0.30m
+ It E L= 544 = 54.4 m
(1 EREH)
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
< N _ Y 3
!
: BRAET
i RC-40 3
!
i A
5 W_[iE]_0.600
a ! D1 [&s&[ 0.125
= g ° HHIRH B5H — DP [ 40| 0.300
i RC-40 < Hi |4miieE| 0.425
i H2_ [dmhle] 0.385
5 hl MR 0.245
i
|
i
D _
i o
i
i
i
( 54.4 m H7=0EE)
4 i IR N R & "o K HA % =
S T As, t=15cmEL 2.00 X 544 m | 1088
St i T As, t=10emLL T 0.60 X 54.4 m? 32.6
| OE T Bk e L 0.60 X 0.385 X 54.4 m’ 12.6
D FELL RC-40 ( 060 X 0245 — 0.125 2 X =,/4)X 544 |m® 7.33
HDREL T WA
D FELL b
EEl Wi R
Py W+ 12.60 — + 09 m® 12.6
FESRALEL As 0.60 X 004 X 544 m’ 1.3
PRI As m’ 1.3
TEVEIEM - L4 T 0.023 X 0.04 X 108.8 m’ | 0.100
A T RC-40, t=15cm 0.60 X 54.4 m? 32.6
AR EEAS(13)
REIRT t=3cm 0.60 X 54.4 m? 32.6
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T T R K

+TH47° | RER1-7 il As PP ¢ 25 DP=1.00m
+ It E = 3.4 = 3.4 m
(1 EREH)
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
< N _ Y 3
[
: BRAET
i RC-40 3
!
i A
5 W_[iE]_0.600
a ! D1 [&s&[ 0.034
= 2| ° HHIRH B5H — DP [ 4w [ 1.000
i RC-40 < Hi | 4miiE| 1.034
i H2_ [dmile] 0.994
5 hl || 0.854
i
i
i
D _
| (=)
i
i
i
( 3.4 m H¥0HEE)
4 Fr IR N NI A & = . BN &
Al T As, t=15cmbA F 200 X 34 m 6.8
SEERRIE T As, t=10cmPL T 0.60 X 3.4 m? 2.0
| OE T Bk e L 0.60 X 0.994 X 3.4 m’ 2.0
HBRLT RC-40 ( 0.60 X 0854 — 0.034 2 X x,/4)X 34 m® 1.7
HDREL T i -
M RELT b
P Wi R
Py WHE T 2.00 — + 09 m® 2.00
FESRALEL As 060 X 004 X 34 m’ 0.08
FEH As m® 0.08
TEUREE - ALy T 0.023 X 0.04 X 6.8 m’| 0.006
WA T RC-40, t=15cm 0.60 X 3.4 m? 2.0
AR EEAS(13)
AR T t=3cm 0.60 X 3.4 m? 2.0
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T T R K

+TH47° | RER1-9 il As PP ¢ 25 DP=0.30m
+ It E = 2.5 = 2.5 m
(1 EREH)
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
< N _ Y 3
[
: BRAET
i RC-40 3
!
i A
5 W_[iE]_0.600
a ! D1 [&s&[ 0.034
= 2| ° HHIRH B5H — DP [ 40| 0.300
i RC-40 < Hi |4miiE| 0.334
i e [dmile] 0.294
5 hl MM 0.154
i
i
i
D _
| (=)
i
i
i
( 2.5 m H¥7=vHE)
4 Fr IR N NI A & = . BN &
Al T As, t=15cmbA F 200 X 25 m 5.0
SEERRIE T As, t=10cmPL T 0.60 X 25 m? 1.5
| OE T Bk e L 0.60 X 0.294 X 25 m’ 0.4
HBRLT RC-40 ( 0.60 X 0154 — 0.034 2 X x,/4)X 25 m® 0.2
HDREL T i -
M RELT b
P Wi R
Py WHE T 0.40 — + 09 m® 0.40
FESRALEL As 060 X 004 X 25 m’ 0.06
FEH As m® 0.06
TEUREE - ALy T 0.023 X 0.04 X 5.0 m’| 0.005
WA T RC-40, t=15cm 0.60 X 25 m? 1.5
AR EEAS(13)
AR T t=3cm 0.60 X 25 m? 1.5
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+ T ¥ & %
+TA47° | fER1-11 Wl As PP ¢ 13 DP=0.30m
+ It E = 0.3 = 0.3 m
(1 EREH)
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
< N _ Y 3
!
: BRAET
i RC-40 3
!
i A
5 W_[iE]_0.600
a ! D15 0.022
= 2| ° HHIRH B5H — DP [ 40| 0.300
i RC-40 < Hi |4miiE| 0.322
i H2_ [dmile] o0.282
5 hl | HREM| 0.142
i
i
i
D _
i o
i
i
i
( 0.3 m H47=0¥E)
4 Fr IR N NI A & = . BN &
Al T As, t=15cmbA F 2.00 X 0.3 m 0.6
SEERRIE T As, t=10cmPL T 0.60 X 0.3 m? 0.2
| OE T Bk e L 0.60 X 0.282 X 0.3 m’ 0.1
HBRLT RC-40 ( 0.60 X 0142 — 0.022 2 X x,/4)X 0.3 m® 0.03
HDREL T i -
M RELT b
P Wi R
Py WHE T 0.10 — + 09 m® 0.1
FESRALEL As 060 X 004 X 0.3 m’ 0.01
FEH As m® 0.01
TEUREE - ALy T 0.023 X 0.04 X 0.6 m’| 0.001
WA T RC-40, t=15cm 0.60 X 0.3 m? 0.2
AR EEAS(13)
AR T t=3cm 0.60 X 0.3 m? 0.2
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1T JHXEE &M -8 ()

g 1 Je OF B K

4 R Hikg OB WA
[&#1]
GHl
PESFL AEFEIUTT4 | ¢ 100X ¢ 75 1 L[E
E H=300
kiR E 450 X 350-200 1 1#
ACHRKF
WkieE 450 X 350-200 1 1 1A
AZT7
Wk fE 680 X 200-40 1 1 1#
FEAH KRS | 65A X90° 1 1 1#
BTGV 80A X 65A 1 1 2]
=y 7L 65A 1 1 1
[55%] _
} Rk E e Te
WA FERRE T HTF 1 1 fEiFT
77 R EF L 75 1 1 8]
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